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45,000,000& 45,000
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TE: ) o 2 =
Chel: ASITY Rl CLRE
- rol 1 = 0 -
SH - B S9(3H) - NRAY - BES S cR HIDS2
OYMsSSTH =8 RSS2
30,000 15004 4,500
o=l 800
OSAMNSETH =& I 4|
8,000& 100 800
oYXtz 2,000
OSAMSEYTH =& A Xt
250,000 & *8CH 2,000
02 S=23l 11,000 1,000 10,000
S0 &t 11,000 1,000 10,000
032223 % HAl 1,000
OYgAe SHI| SKLe3
50,000 x12& 600
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11 SAIAHIXIRZ 11,000 11,000
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mu: o 2o
Ciol: AMEDIUS 23| (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 2,650
Al 1,377
- 3,213
=20 A 7,240 716 6,524
= 2,650
Al 1,377
- 3,213
onSte A& E3HAY| 683,000 633
= 633
OLIet U AHOIH WS AHH|
6,557,000 6,557
= 1,97
Al 1,377
- 3,213
301 LEIBN= 16,689 16,324 365
= 5,007
Al 3,504
- 8,178
11 SHAMAHIXIR 2 6,789 6,425 364
= 2,037
Al 1,425
- 3,327
S0l A 6,789 6,425 364
= 2,037
Al 1,425
- 3,327
oolgte 2l 558,000& 558
= 168
Al 117
- 273
OJI=Xdl S d2U= 4,098,000& 4,098
= 1,229
Al 860
- 2,009
OXdoe=t =4 2,133,000 2,133
= 640
Al 448
- 1,045
14 JIEIE A2 9,900 9,899 1
= 2,970
Al 2,079
- 4,851
=0l A 9,900 9,899 1
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SH - B S9(3H) - NRAY - BES S SR HIDS2
= 2,970
Al 2,079
- 4,851
ORI NE ZAE 9,900,000 9,900
= 2,970
Al 2,079
- 4,851
=0IEN oIge g =d 1,900 1,900 0
= 570
Al 399
- 931
201 Ler23d| 1,900 1,900 0
= 570
Al 399
- 931
01 AtR22teltl 1,900 1,900 0
= 570
Al 399
- 931
204 & 1,900 1,900 0
= 570
Al 399
- 931
oOget+=2H| 1,900
O=0E0N 2R & =]
1,900,000& 1,900
= 570
Al 399
- 931
HIACHE] &2 47,332 47,356 N24
Al 5,200
- 42,132
201 LEr23AH| 47,332 47,356 N24
Al 5,200
- 42,132
01 AtR2teldl 23,932 23,956 NP4
20 & 23,932 23,956 N24
OgBt=2H| 15,572
Otla=2AlE =E2ZAME Y
5,000 *9I A #2E 43| 360
OtlasSsAld 47ASH
270,000 *8IH A 2,160
OblAZAlE It I =2
80,0002 xQIH A+ 12& 8,640
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OSEXE &olol & S8 HIZ
50,000 *43] 200
OZF0181D =5 &40 X&
50,0003 *8IH 400
OSFHE oIyl 46,0003 *305 1,380
OSXAHS &Al 2,432
-2X & AAIHE QMY
25,0003 x322 800
-2Xo& S48 HE 70,0008 %105 700
=SS MEEE 300,000&x13] 300
-Z2XME XI5 S 50,0003 x4 200
-SXHsS D201 ME 22,0003 x65 132
-SXN9Es =82t HIE
30,0002 1074 300
o2g4y 2,800
OsgdIgels a8
70,000& x10H *43| 2,800
o1l=H| 1,550
oolgs 31,000 x50 1,550
O3 | 3,810
O2XHE 22X S| 2,850
—Z Al 8,000 %552 3 1,320
=4 3, 50081 %152 42! 210
N 8,0002! #5521 +32! 1,320
OSXNAHES 2R 2HAH|
3,000&*80 x4 %60
oYXtz 200
OSXNHS =A| LRt 200,000 = 1CH 200
2 3324l 23,400 23,400 0
Al 5,200
- 18,200
S0 A 23,400 23,400 0
Al 5,200
- 18,200
03322 % MA 7,560
OHlAZ2xAE JIIe3
70,000 xQ0 A+ 12 7,560
(OINF=F{sIE=IN]s]l 15,840
OHIAZSTAIE M EA
90,0002 *90H A x4 3| 3,240
OHlAIZ=AlE X&) A2
1,000,000 1,000
OHlAZ2%AE A2
7,800,000& x13] 7,800
Al 3,900
- 3,900
OHIAHIIANE X2
2,600,000&x13] 2,600
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SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 1,300
2 1,300
OHIAUIAIE BA44E
600,000& *23] 1,200
SEH0 AIZISRA 22| 336,516 277,722 58,794
AISIER223 A2k 336,516 207,722 58,794
201 LEt23d| 800 800 0
01 AtS2teltl 800 800 0
S0 &t 800 800 0
OgEt=ZH| 800
OAIRIER223 u=x 9 H&
50,000 *23] 100
OXEZIH 100,000 74 700
301 LetBEZ 335,716 276,922 58,794
10 Al =RQRBAS 335,716 276,922 58,794
20 & 335,716 276,922 58,794
o=z 800,000 x26H x12& 249,600
(©OFas] 8,000 x26H 20! » 123 49,920
OnEH| 2,6003 x26H x20 x 12 16,224
O4HEE= 19,000& 120 2,280
(O xe DNE=ds] 3,000,000 3,000
O1l=| 309,600 *20H 6,192
OZE H3 30,0003 =100 *23] 6,000
OAEMM JIES 50,000 x50 2,500
o= S4XI& X 58,000 58,000 0
oibl=2 S4XI& EX 58,000 58,000 0
308 AXICHHISOIA 24,373 24,373 0
10 GBI Z2SEXNAZAEX 24,373 24,373 0
20/ & 24,373 24,373 0
Oubl2 SEXE BXS(776550H 20HTH) 24,373
O & X3 2,740,000 2,740
Ou=ssd XA 15,104,000 15,104
OuldlzZ 2d2g X 6,529,000 6,529
403 XXM SKH=201H 33,627 33,627
03 OllBlIZs=&XNAN=ER 33,627 33,627
S0j &t 33,627 33,627
oulblz 8K BX2(7765201 201CH) 33,627
oudlz2 ussd X 33,627,000& 33,627
HESA 208 &= 2,426,106 2,510,971 A\84,865
AL Y SEMAEHS S8 22 2,426,106 2,510,971 A84,865
SE2MHEH 2g2e| 1,275,850 1,470,150 A 194,300
201 LEt2Ad| 1,274,200 1,468,500 194,300
01 AtR22teltl 8,080 7,680 400
S0 &t 8,080 7,680 400
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Bu: HOSM 29|y B
o JAEE L SE2MMES sE8 22| (e & )
SA - EH - CR(B) - NRAY - BaS S SR RS2
Ogtt=2H| 5,880
OSE2NEEH 2323
200,000 = 12& 2,400
OZHHE 248 A 600,000& *43] 2,400
O3J183&D] 2eldl 50,000& 122 600
O&RF 22yl 480
& AIE 40,0003 *101*23] 80
-0l=2 100,000& *1JH*23] 200
-NIEH| 50,0003 *43] 200
o2g+Y 2,200
OSTE4 8O MoK EHIIAR +o
100,000& *9H *23| 1,800
OFXEs 29 MOetA EItfIA oyl
100,000 x2H *23| 400
02 S32g4| 1,266,120 1,460,820 194,700
=0 A 1,266,120 1,460,820 A194,700
02222 < HA 610,776
OV #Z3E A2
62,0002 *663H A-* 122 493,272
OCCTV &2 AlE22
17,0002 *576 0 A% 122 117,504
OCCTV SE2MEH 2LIHE 9
4,551,000 x12H 122 655,344
202 04| 1,200 1,200
01 2| 1,200 1,200
20 & 1,200 1,200
o222yl 1,200,000& 1,200
203 LRF=&d| 450 450
03 AIMF=RIH R F=EIH| 450 450
S0/ & 450 450
OCCTV SE2MHEH 2 =&
450,000 450
FAFB XD 2t 704,216 674,721 29,495
201 dEt2AH| 704,216 674,721 29,495
02 =323l 704,216 674,721 29,495
=0 A 704,216 674,721 29,495
OSE2MHE AAE SXE2H] 198,130
OCCTV SE2NM &34 B2
2,133,804,000& *7.97% 170,065
OUIERZa 28 175,231,000 * 7% 12,267
OGMEH B2 196,741,000 *5.03% 9,897
OS&&H 282 13,757,000 * 7% %63
O=20 &l 23,768,000 *7% 1,664
OREN MK 22,275,000 *7% 1,560
Ot Ay 24,475,000 *7% 1,714
OCCTV AIAE! SXIE2H| 501,086
ogg = CC1v 3,161,002,000& *6.8%% 217,794
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B HESA 2908 25
ol AMED o SEBHMES SEX 22 CERL
Off koK & T 0f AHY =
OO02l0IEES 7Y CCTV
813,500,000 +6.98% 56,783
O AIZS& CCv 628,566,000 *6.95% 43,686
O=8 =3I &= TV
2,349,044,0003 +6.78% 159,266
OMDIEINZXI CCTV 116,532,000& * 7% 8,158
O CCTV 173,146,000 +6.96% 12,051
OAldE22el CCTV 51,897,000& +6.45% 3,348
OCCTV 212 =34I(01& &Xl S)
5,000,000& 5,000
SAEEX D] D8t =3 446,040 238,000 208,040
401 AlEHIZL S 0HY| 138,000 0 138,000
01 Al&Hl 138,000 0 138,000
=0l & 138,000 0 138,000
og-yE CCv &xl 90,000,000 90,000
O=QEHUA XIHLIAS] HLHAIS 48,000
O™ E CCTV X(=435)
24,000,000 24,000
O™ E CCTIV &X(&E=3)
24,000,000 24,000
405 RHatE S 308,040 238,000 70,040
01 AR S EF S| 308,040 238,000 70,040
=01l &t 308,040 238,000 70,040
OCCTV GA&EE MEEI(AELIX)
114,840,000& *14 114,840
QCCTV &Xl 2ol A 440,000& 100 44,000
O©%== CCTV Jthlct W 59,000
O3ldg CC1v 2toilet 3,500,0002 10CH 35,000
OLIEE CCTV JtHict 1,200,000 *20CH 24,000
OCCTV SE2HMHIEH 2ot 22| AIA” 2= 90,200
OCCTV INARE 22| AIAE
90,200,000 *14 90,200
AHHE2HAH(AHS2Z) 415,898 373,109 42,789
QI A 333,588 281,139 52,449
QIR 2| 333,588 281,139 52,449
101 @124d] 328,285 279,616 48,669
01 2= 172,544 236,856 264,312
=01 &t 172,544 236,856 NB4,312
OAIZt2l==E 12,3213+ 17 +3BA1 2+ 123 87,972
OMdH - THE HIA2SR AlRIEH(2H)
12,3213 #429B 4 A 242 | 84,572
02 JIEH E = 155,741 42,760 112,981
=0l & 155,741 42,760 112,981
oJI2s 118,103
OAIZHERR DIHI(7T2 &)
3,608,6402+2H x 123 86,608




2N tdESZ
B HHS A (SR
chel: oleie | LR
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
OAZHER 2ADIHI(92 AL
2,624,530 1B+ 128 31,495
(©Fni= 3,142
OAIZHEE - IIHI(92 A )
261, 7703 x 1+ 12& 3,142
OIJE=Y 480
OAZHER 2ADIHI(92 &) 480
- X 40,0003 *1H*123 480
OxW22+Y 20,936
OB HI 12,3213 1H*3BA2Hx 128 5175
OTaH - MLt BIA22 A=Y (2H)
12,3213 *13Y 4 A| 2+ x4Z D | 2,563
OAIZMHEEH LIIHI(7T2 &)
11, 1302 *x35A| 22+ 12& 9,350
OAIZHE R LIIHI(92 &)
9, 160R *3BA| 2t 1+ 12& 3,848
OE+AR+Y 5,670
OAZIEEH DIHI(72 &)
3,608, 640 40/ 35+84%+ %2 H * 122 4,158
OAZLER 2ADIHI(92 AL
2,624,530 40/ 35+84%+ %+ 15 * 122 1,512
OFAZAH| 5,040
OAIZFHEEH LIIHI(7T2 &)
140,000& »2Z 12& 3,360
OAIZHEER LIIHI(92 &)
140,000& x 15+ 12& 1,680
OS2 AH| 2,370
OAZIEEH ADIHI(72 &)
3,608,640 *84%+86%+*1/30%1/7*70 A 2H+2 1,738
==
OAZFHER 2ADIHI(92 &)
2,624,530 *84%+86%+*1/30%1/7*70A| 2+ 1 632
==
204 P AH| 5,303 1,523 3,780
02 MZE x| 5,303 1,623 3,780
20 & 5,303 1,523 3,780
OAIZHEE - LINHI(72 &)
175,000 & *35/40+2H » 12& 3,675
OAIZHEE - IIHI(92 &)
155,000 *35/40% 1« 12& 1,628
234 82,310 91,970 29,660
Jl=2Z&| 82,310 91,970 9,660
201 Ler23d| 30,770 28,670 2,100
01 AtR22telt| 30,770 28,670 2,100
20 & 30,770 28,670 2,100
Ogst=2H| 8,690
OJIZ2ANRES 5,000& x23% 123 1,380
OJl=E HEZE 250,000& 250
O=AEX 1,000




SM: OEE
M. ¥2IFY|(tdESZ)
©e: J|=4hl (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
-M 20,0003 x50 A 1,000
OZHEZelH ElY
300, 000& *2CH 41 *23] 4,800
Otlz31sz 15,0002 x65* 122 1,080
OgA ME 3,0002 *30JK*23] 180
o=l 22,080
OJ|28RF8 =4l
8,000 x20H x 10« 12& 19,200
OAZHEEH LM SRFE =4I|
8,000 x35 10 12& 2,880
202 O4H| 38,640 50,400 A11,760
01 =LHOH] 38,640 50,400 211,760
201 & 38,640 50,400 A11,760
OISR 2UEE Y]
20,0002 +20H 7« 123 33,600
OAIZHEE R DMl 2HLHEE 0]
20,0003« 3H+7x12& 5,040
203 SRF=&| 7,500 7,500
01 J| A2 HRF=AY| 3,300 3,300
S04 & 3,300 3,300
o= 3,300,000& 3,300
M 2EN2IHRFE] 4,200 4,200
20 & 4,200 4,200
©2521 0|5t 350,000 «12& 4,200
204 P AH| 5,400 5,400
01 S AR AY| 5,400 5,400
20 & 5,400 5,400
o= 350,000 x12& 4,200
OMH 100,000 =123 1,200
HREes(NsZ ) 794,041 755,736 38,305
UWEHHK=E 794,041 755,736 38,305
Heze|Dlsg 8&E32 794,041 755,736 38,305
m?IIsNEZ3 794,041 755,736 38,305
01 JI2&E&E2 794,041 755,736 38,305
=0i & 794,041 755,736 38,305
omMt&2IIZ M3 794,041,000 794,041




